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i Grey line: exponential fit Peak flux: 1.121+/- 0.393 c/s/cm? |
- Black line: power law + gauss fit Fluence : 4.73+/- 1.13 c/cm? —
- Dashed line: power law o ’ ’ -
L Duration: 9.59+/- 3.40s .
— Best fit model: 1. -
- Best fluence model: 1. _
B Best duration model: 1. 7
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; Exponential fit é
= Expon.time: 2.33+/- 0.77 s (chi*red= 1.07) =
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; Power law fit é
E Power law index: -1.584+/- 0.363 (chi*red= 1.07) =
= | | bl | bl W
= ++*+uﬁﬁwﬂmﬁm Mﬁﬁ% *+++++*+*++*%+TWTHHWW +H+*+H++H++%H*+%THﬁﬂHwH* wﬁ ﬁ H w **++%***++*****++*+*H*H*+ﬁﬁ*wi *+H*+H{W{Mﬁw ! ww wﬂ Mw MWW ﬁwﬁw ﬂf@
= f =
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 48.82+/-33.85 s, fracgs= 0.50+/- 0.37) =
- Power law index: -2.187+/- 0.889 (chi*-red= 1.07) 3
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